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‘ 1 =10
i. Ciluse tne correct answer: (. I‘() x| )
L. The circle x+y” = 4x + 8y +5 intersects the line 3x— 4y = m at two distinct points tf )
1) 15<m <065 2)35<m<85 3) =85 < = =43 4)=35<m < 15
2 The centre of the circle inseribed in a square formed by the lines x —=8x = 12= 0 and
y =14y +45=0is
1) (4.7) 2)(7.4) 3)(9.4) 4) (4.9) 4
% [f P(x. ¥) be any point onl6 x™+25y* = 400 with foci F(3.0) and Fa(=3.0) then PE, + PFs is
)8 2) 6 3) 10 4)12
4. If x +y = k is a normal to the parabola y* = 12x, then the valuc of k is
IR 2) -1 3) 1 4)9
2 2 .
8 Area of the greatest rectangle inscribed in the ellipse )f; + 2—2 =11s
1) 2ab » ~2)ab 3yVab 4)7
%) 9 ’2 . V
6. The eccentricity of the ellipse (x - 3)” + (y— 4)* = % 1S
L 2) L S L
(g The locus of a point whose distance from (-2, 0) is 5 times its distance from the line x = %9 1S
1) a parabola 2) a hyperbola 3) an ellipse 4) a circle
8. If the coordinates at one end of a diameter of the circle x” + y* —8x — 4y+c=0are(11,2),
The coordinates of the other end are
1 (=5,2) 2) (2, -5) 3) (5, =2) 4)(=2,5)
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9. The eccentricity of an ellipse, with its centre of the origin is 1/2. If one of the directrices is x=4. (hen
The equation of the ellipse is _
1) x*+4y =1 2) 3x7+4y’=12 3) 4x243y2=12 4) 4x>+3y’=1

10.  Theradius of the ausciliary circle of the conic OX*+16y*=144 is.
NV7 2) 4 3) 3 4)’s

II. Answer the tollowing questions: B3x2=0)

11. Find the equation of the parabola vertex is (5, —2) and focus (2, —2).
12. Find the vertices, foci for the hyperbola 9% —1 6y’=144.

13. Find the equation of the parabola with end points of latus rectum (4, —8) & (4, 8)
I11. Answer the followinz questions: 3x3=9)

14. Find the equation of the ellipse, foci (+3, 0) , e = %

[hs3 Prove that the length of the latus rectum of the hyperbola Z—z - Zl—z =11is szz.

16.  Find the vertex, focus, equation of directrix and length of latus rectum of a —4y —8x+12=0. —

IV. Answer the following questions: (3x5=15)

17. Prove that the sum of the focal distances of any point on the ellipse is equal to length of the major axis.

18. The orbit of Halley’s Comet is an ellipse 36.18 astronomical units long and by 9.12 astronomical units
wide, find its eccentricity.

19. Identify the type of conic and find centre, foci, vertices and directrices of the conic is

9x*—y* —36x—6y + 18 = 0.



